Determining the Number of Zeroes for a Quadratic Function

PROBLEM 1:

Find the #of x-intercepts for the graph of the function f(x) =x2+2x-3 

Method 1:  Change the formula to vertex form (complete the square).

Method 2:  Factor the equation.

Method 3:  Use the quadratic Formula
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How many zeroes are there?  __________

Is the b2-4ac >0  or   <0  or =0?  
PROBLEM 2:

Find the #of x-intercepts for the graph of the function f(x) =x2+2x+1 

Method 1:  Change the formula to vertex form (complete the square).

Method 2:  Factor the equation.

Method 3:  Use the quadratic Formula
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How many zeroes are there?  __________

Is the  b2-4ac >0  or   <0  or =0?  

PROBLEM 3:

Find the #of x-intercepts for the graph of the function f(x)=x2-8x+31
Method 1:  Change the formula to vertex form (complete the square).

Method 2:  Factor the equation.

Method 3:  Use the quadratic Formula
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How many zeroes are there?  __________

Is the  b2-4ac >0  or   <0  or =0?  

We call b2-4ac the discriminant.

In general, 
if b2-4ac = 0, then there are  _________ zeroes



if b2-4ac> 0, then there are  _________ zeroes



if b2-4ac < 0, then there are  _________ zeroes

Problem 4:   Determine the value of k if  f(x) = 2x2 + kx – 8 has just one zero.
If it has just one zero then b2-4ac =0.


Fill in the appropriate numbers and letter for b2-4ac, then set it equal to zero and solve for k.
Homework: pg 185 #4-15
